Auction	Bid Rfq
Title:155-19	Num:32215
Baseball	
Uniforms and	
Equipment	

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
1.00	Y	Reason	Diamond D-1 Pro Baseballs NFHS		DZ	60.95		AMERICA TEAM SPORTS
			with Texas STamp - District Game					
			Ball, No Subs			69.88	3,494,00	VARSITY BRANDS
							_,	HOLDINGS CO INC
						88.95	4,447.50	DAN CAREYS SPORTING
2.00	Y		Diamond #DBP Practice Baseballs,	36	DZ	37.95	1 366 20	GOODS LTD AMERICA TEAM SPORTS
2.00	•		no subs	00	DL	01.00	1,000.20	
						43.56	1,568.16	VARSITY BRANDS
						52.50	1 890 00	HOLDINGS CO INC DAN CAREYS SPORTING
						02.00	1,000100	GOODS LTD
3.00	Υ		Diamond Practice Balls, #DOLA	49	DZ	38.50		AMERICA TEAM SPORTS
						49.66	2,433.34	VARSITY BRANDS HOLDINGS CO INC
						67.45	3,305.05	THE PROPHET CORP
						69.00		DAN CAREYS SPORTING
4.00			All Oten Detting Lielmet Overlage 7	20		10.00	270.00	GOODS LTD
4.00	Y		All Star Batting Helmet System 7 #OSFA, no subs fill-ins, color to follow		EA	18.99	379.80	PYRAMID SCHOOL PRODUCTS
			when order is placed				_	
						19.22	384.40	VARSITY BRANDS
						23.65	473.00	HOLDINGS CO INC AMERICA TEAM SPORTS
5.00	Y		All-Star Shin Guards, navy, no subs	1	PR	139.98		PYRAMID SCHOOL
			fill-ins					PRODUCTS
						150.94	150.94	VARSITY BRANDS HOLDINGS CO INC
6.00	Y		All Star Chest Protector, navy no subs	1	EA	137.29	137.29	VARSITY BRANDS
			fill-ins					HOLDINGS CO INC
						141.95	141.95	PYRAMID SCHOOL PRODUCTS
7.00	Y		All Star Catchers Helmet, navy, no	2	EA	47.98	95.96	PYRAMID SCHOOL
			subs fill-ins				_	PRODUCTS
						59.14	118.28	VARSITY BRANDS HOLDINGS CO INC
8.00	Y		Rawlings Baseball Adult Short Sleeve	23	EA	36.35	836.05	AMERICA TEAM SPORTS
			Hoodie, with two color letter/lettering,					
			no subs fill-ins, color, letter/lettering &					
			sizes to follow when order is placed					
						48.00	1,104.00	VARSITY BRANDS
						49.98	1 1 40 5 4	HOLDINGS CO INC PYRAMID SCHOOL
						49.98	1,149.54	PRODUCTS
9.00	Y		Rawlings Baseball Pants Pro 150, no	23	PR	31.95	734.85	AMERICA TEAM SPORTS
			subs fill-ins, no elastic bottom, solid					
			white, sizes to follow when order is placed					
			placed			38.99	896.77	PYRAMID SCHOOL
						10.50		PRODUCTS
						42.50	977.50	VARSITY BRANDS HOLDINGS CO INC
10.00	Y		Rawlings Baseball Pants Pro 150B,	26	PR	39.95	1,038.70	AMERICA TEAM SPORTS
			no subs fill-ins, elastic bottom, with					
			1/8 piping, color, color of piping & sizes to follow when order is placed					
			Sizes to follow when order is placed			42.50	1,105.00	VARSITY BRANDS
								HOLDINGS CO INC
						49.98	1,299.48	PYRAMID SCHOOL
								PRODUCTS

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
-	Y		Rawlings Knicker Baseball Pants, no subs fill-ins, solid color, color & sizes to follow when order is placed	. <u> </u>	PR	19.45		AMERICA TEAM SPORTS
			to follow when order is placed			27.25	654.00	VARSITY BRANDS HOLDINGS CO INC
						36.98	887.52	PYRAMID SCHOOL PRODUCTS
12.00	Y		Rawlings Game Pants fill-ins no subs - White with 3/8" maroon bead	30	PR	27.25	817.50	VARSITY BRANDS HOLDINGS CO INC
						39.75		AMERICA TEAM SPORTS
13.00	Ŷ		Rawlings Baseball Pants Pro 150 (fill- ins) No subs - Gray with navy 1/8" piping, elastic bottom	12	PR	42.00	504.00	AMERICA TEAM SPORTS
						42.50		VARSITY BRANDS HOLDINGS CO INC
						42.99	515.88	PYRAMID SCHOOL PRODUCTS
14.00	Y		Rawlings Mach 6 Senior Two Tone Matte Batting Helmet, no subs fill-ins, #MACH-SIL7/W7-SR, color to follow when order is placed	6	EA	41.95	251.70	AMERICA TEAM SPORTS
15.00	Y		Rawlings BS Layer Long Sleeve Shirt #LSBASE, high performance moisture management shirt with raglan sleeves, 100% pro dry polyester interlock material, no subs fill-ins, color & sizes to follow when order is placed	90	EA	9.75	877.50	AMERICA TEAM SPORTS
						15.50	1,395.00	VARSITY BRANDS HOLDINGS CO INC
16.00	Y		Nike Vapor Pro Baseball Pant #747226, no subs fill-ins, with piping, color, color of piping & sizes to follow when order is placed	15	PR	27.50	412.50	VARSITY BRANDS HOLDINGS CO INC
17.00	Y		Nike Vapor Baseball Pant #747244, no subs fill-ins, solid color, color & sizes to follow when order is placed	8	PR	27.50	220.00	VARSITY BRANDS HOLDINGS CO INC
18.00	Y		Nike Stock Baseball Pant solid color, no subs fill-ins, color & sizes to follow when order is placed	40	PR	27.50	1,100.00	VARSITY BRANDS HOLDINGS CO INC
19.00			Nike Pegasus Shoes or approved equal, color and sizes to follow when order is placed	2	PR	70.00	140.00	VARSITY BRANDS HOLDINGS CO INC
20.00	Y		Nike Vapor 1-button Laser Jersey #NK818541 494 - no subs fill-ins, royal/white with white outlined in black lettering, GISD Logo 3/4" x 2" & numbers front & back interlocking "LC" on left shoulder, sizes to follow when order is placed		EA	61.50	1,414.50	VARSITY BRANDS HOLDINGS CO INC
21.00	Y		Nike Stock Vapor 1-button Laser Jersey #818541, with one color lettering, numbers front & back - GISD Logo 3/4 x 2", color, lettering, numbers & sizes to follow when order is placed		EA	61.50	1,230.00	VARSITY BRANDS HOLDINGS CO INC
22.00	Y		Nike Stock Jersey, no subs fill-ins, gray with "Naaman" on front and "Forest" in the tail Orange lettering outlined in dark green small number on front, GISD Logo 3/4" x 2" & number on back, sizes & numbers to follow when order is placed	25	EA	61.50	1,537.50	VARSITY BRANDS HOLDINGS CO INC
23.00	Y		Nike Vapor Laser Jersey #330090, no subs fill-ins, two color standard grey with royal sleeve, "Patriots" script royal outlined in white & GISD Logo 3/4" x 2, front & back number royal outlined in white, interlocking "LC" solid white on left sleeve, sizes to follow when order is placed	23	EA	90.00	2,070.00	VARSITY BRANDS HOLDINGS CO INC

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
	NA		Nike Men's 1/2 Zip Top #NK908359,		EA	62.50	375.00	VARSITY BRANDS
			no subs fill-ins, color & sizes to follow when order is placed					HOLDINGS CO INC
25.00	Y		Nike ProCool 3/4 Top #NKAA9887,	20	EA	32.50	650.00	VARSITY BRANDS
			no subs fill-ins, with two color lettering					HOLDINGS CO INC
			at neck, sizes & lettering to follow					
26.00	Y		when order is placed Easton M-7 Catchers Helmet #M7CP,	1	EA	71.96	71.96	VARSITY BRANDS
			no subs fill-ins, color & size to follow					HOLDINGS CO INC
			when order is placed					
						87.50 105.25	87.50 105.25	AMERICA TEAM SPORTS
						100.20		GOODS LTD
27.00	Y		Easton M-7 Shin Guards #A165309	1	PR	52.82	52.82	VARSITY BRANDS
			16.5, no subs fill-ins, color & size to follow when order is placed					HOLDINGS CO INC
						69.15	69.15	AMERICA TEAM SPORTS
						105.25	105.25	DAN CAREYS SPORTING
28.00	Y		Easton M-7 Chest Protector	1	EA	42.56	42.56	GOODS LTD VARSITY BRANDS
20.00	•		#A165309, no subs fill-ins, color &	l l	LA	42.50	42.00	HOLDINGS CO INC
			size to follow when order is placed					
						62.50 97.25		AMERICA TEAM SPORTS DAN CAREYS SPORTING
						97.25	97.25	GOODS LTD
29.00	Y		Easton Z5 GRIP 2.0 Solid Matte Color	8	EA	33.15	265.20	DAN CAREYS SPORTING
			Batting Helmets, no subs fill-ins, navy,					GOODS LTD
			sizes to follow when order is placed					
						33.50		AMERICA TEAM SPORTS
						37.44	299.52	VARSITY BRANDS HOLDINGS CO INC
30.00	Y		Adidas Badger Baseball Jersey	18	EA	69.75	1,255.50	AMERICA TEAM SPORTS
			#AD02403M white with two color					
			tackle twill lettering, GISD Logo 3/4 x					
			2" & numbers on front and back - no subs fill-ins, #1 - 18, sizes to follow					
			when order is placed					
31.00	Y		Adidas Climalite Long Sleeve Tee	25	EA	9.90	247.50	ITS GREEK TO ME
			#2946, or approved equal, color & sizes to follow when order is placed					
						15.15		AMERICA TEAM SPORTS
32.00	Y		Adidas Men's Climalite Fielder's	23	EA	32.00	736.00	AMERICA TEAM SPORTS
			Choice Cage Jacket, no subs fill-ins, short sleeves, with two color lettering					
			on left side, sizes to follow when order					
33.00	N/		is placed	2	DZ	10 11	E9 33	VARSITY BRANDS
33.00	Ť		Adams Belts #26 or approved equal, color to follow when order is placed	ు	DΖ	19.44	50.52	HOLDINGS CO INC
					H			
						27.50 38.40		AMERICA TEAM SPORTS DAN CAREYS SPORTING
						30.40	115.20	GOODS LTD
34.00	Y		A4 Dri-fit Loose Fit Short Sleeve T-	60	EA	8.15	489.00	RIDDELL ALL AMERICAN
			Shirt, or approved equal, Royal Blue with "PATRIOT" bridge font Royal					
			outlined in black "BASEBALL" athletic					
			block Solid black, Back-Neck 2"					
			interlocing "LC" white outlined in					
			black, Sizes to follow when order is palced					
						8.35		AMERICA TEAM SPORTS
1						11.65	699.00	DAN CAREYS SPORTING GOODS LTD
						11.70	702.00	ITS GREEK TO ME
						11.75	705.00	VARSITY BRANDS
								HOLDINGS CO INC

Ln #	Award (Y/N)	Reason	Item Description	Quantity I	JOM	Price	Extended Price	Supplier
35.00		100011	A4 Dri-fit Long Sleeve Loose Fit T- Shirt or approved equal, royal with "PATRIOT" bridge font, black outlined in royal "BASEBALL" athletic block solid royal, back - neck 2" interlocking "LC" royal outlined in white, sizes to follow when order is palced	60 E		8.15		RIDDELL ALL AMERICAN
						11.25		AMERICA TEAM SPORTS
						13.35	801.00	DAN CAREYS SPORTING GOODS LTD
						13.50		ITS GREEK TO ME
						14.50	870.00	VARSITY BRANDS HOLDINGS CO INC
36.00	Y		A-4 Dry Fit Cooling Performance Crew Neck Top Short sleeve, or approved equal, black with "Owl Baseball" across top, baseball diamond with cross bats underneath, Garland "G" inside the diamond, gold lettering, sizes to follow when order is	40 E	EA	5.40	216.00	RIDDELL ALL AMERICAN
			placed			5 50	220.00	AMERICA TEAM SPORTS
				5.50 7.00		DAN CAREYS SPORTING GOODS LTD		
						9.45		ITS GREEK TO ME
						11.75	470.00	VARSITY BRANDS HOLDINGS CO INC
37.00	Y		A-4 Cooling Performance Dry Fit Short Sleeve Top, or approved equal, orange with dark green 6" "NF" in the center chest - 1" "BASEBALL" underneath, sizes to follow when	60 6	EA	5.40	324.00	RIDDELL ALL AMERICAN
			order is placed			5.50	330.00	AMERICA TEAM SPORTS
						6.65	399.00	DAN CAREYS SPORTING GOODS LTD
						9.45 11.75		ITS GREEK TO ME VARSITY BRANDS HOLDINGS CO INC
38.00	Y		A-4 Cooling Performance Long Sleeve Top N3165, or approved equal, color & sizes to follow when order is placed	40 E	EA	5.65	226.00	AMERICA TEAM SPORTS
						5.90		RIDDELL ALL AMERICAN
						6.00		DAN CAREYS SPORTING GOODS LTD
						9.90 14.50	580.00	ITS GREEK TO ME VARSITY BRANDS HOLDINGS CO INC
39.00	Y		2019-2020 National Federation	9 6	EA	12.00		AMERICA TEAM SPORTS
40.00	NA		Baseball Rulebook Louisville Omaha Slugger Bats or approved equal, length & ounces to	4 8	EA	149.98	599.92	PYRAMID SCHOOL PRODUCTS
			follow when order is placed			181.16	724.64	
						189.00	756.00	HOLDINGS CO INC DAN CAREYS SPORTING GOODS LTD
41.00	Y		Richardson Cap #PTS20CU, no subs	60	EA	17.95	1,077.00	AMERICA TEAM SPORTS
		_	fill-ins, with three color embossed embroidered logo, color, logo & sizes to follow when order is placed					
						20.25		VARSITY BRANDS HOLDINGS CO INC
						26.75		DAN CAREYS SPORTING GOODS LTD
42.00	Y		Schutt Original Hollywood Bases #1036930, with ground anchors, no subs	1 \$	ST	222.84	222.84	VARSITY BRANDS HOLDINGS CO INC
						235.00	235.00	AMERICA TEAM SPORTS

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
						258.00	258.00	DAN CAREYS SPORTING
43.00	Y		Schutt Hollywood Base Anchors	1	ST	22.79		GOODS LTD VARSITY BRANDS
43.00	I		#1236507, no subs	I	31	22.19		HOLDINGS CO INC
						24.50	24.50	DAN CAREYS SPORTING
								GOODS LTD
44.00	V		Jack Corbet Hollywood Bases, set of	1	ST	30.00 222.84		AMERICA TEAM SPORTS VARSITY BRANDS
44.00			three, no subs	I	51	222.04		HOLDINGS CO INC
						235.00	235.00	AMERICA TEAM SPORTS
						242.00		DAN CAREYS SPORTING
45.00	Y		Hollywood Bury-All Home Plate	2	EA	65.00		GOODS LTD AMERICA TEAM SPORTS
40.00	•		#1236477	2		00.00	100.00	
						117.89		VARSITY BRANDS
						129.00		HOLDINGS CO INC DAN CAREYS SPORTING
						129.00		GOODS LTD
46.00	Y		SKLZ Soft Hands Fielding Trainer	5	EA	7.95		AMERICA TEAM SPORTS
17.00			#1127, or approved equal		-			
47.00	Y		Home Plate Turf Mat, 6x12, green #1235906, or approved equal	2	EA	312.32		VARSITY BRANDS HOLDINGS CO INC
						375.00		AMERICA TEAM SPORTS
48.00	Y		Mid America Sports Vinyl Backdrops	2	EA	84.97	169.94	VARSITY BRANDS
			for Baseball Cage, black or approved					HOLDINGS CO INC
			equal			105.00	210.00	AMERICA TEAM SPORTS
49.00	Y		Atomic Total Control Balls #TCB012L-	3	DZ	90.04		VARSITY BRANDS
			120, or approved equal					HOLDINGS CO INC
50.00	Y		Promound PV Tee #TA2401, no subs	2	EA	104.22		VARSITY BRANDS
						115.00		HOLDINGS CO INC AMERICA TEAM SPORTS
51.00	Y		Jugs Protective Series Square with	3	EA	105.00		AMERICA TEAM SPORTS
			Sock Net #04827, or approved equal					
						172.76	518 28	VARSITY BRANDS
						172.70		HOLDINGS CO INC
						242.00		DAN CAREYS SPORTING
								GOODS LTD
						271.95	815.85	PYRAMID SCHOOL PRODUCTS
						328.94	986.82	RIDDELL ALL AMERICAN
52.00	Y		Trigon Waffle Bottom Throw Down	2	EA	6.14		VARSITY BRANDS
			Home Plate #BTDPW, or approved					HOLDINGS CO INC
			equal			15.00	30.00	AMERICA TEAM SPORTS
53.00	Y		Trigon Pro Cage Professional Ball	2	EA	46.62	93.24	VARSITY BRANDS
			Cart (2 wheel cart) #BPCADP, or					HOLDINGS CO INC
			approved equal			195.00	390.00	AMERICA TEAM SPORTS
54.00	Y		Tanner Baseball Tees #TB-K11059,	6	EA	71.42		VARSITY BRANDS
	-		no subs					HOLDINGS CO INC
55.00	Y		Battle Rope, 1.5" x 50' long, or approved equal	1	EA	62.54		VARSITY BRANDS HOLDINGS CO INC
			approved equal			143.10		THE PROPHET CORP
						150.00		AMERICA TEAM SPORTS
56.00	Υ		Champro Baseball Pants #BP9U, no	15	PR	15.45	231.75	AMERICA TEAM SPORTS
			subs fill-ins, color & sies to follow when order is placed					
						17.35	260.25	RIDDELL ALL AMERICAN
57.00	Y		Adidas Backpack #51412199, no subs	16	EA	44.25	708.00	AMERICA TEAM SPORTS
			fill-ins, with two color lettering &					
			number embroidered, color, lettering - numbers & color to follow when order					
			is placed					
58.00	Y		Russell Nu-Blend Short Sleeve T-	40	EA	5.15	206.00	AMERICA TEAM SPORTS
			Shirt #64030MK, or approved equal					
			with one color lettering on front, color, lettering & sizes to follow when order					
			is placed					
						6.65		DAN CAREYS SPORTING
						0 55		GOODS LTD
I				1		8.55	342.00	ITS GREEK TO ME

Chris Talbot participated and concurs with this recommendation. The District solicited 385 vendors and received 7 responses

RFP# 155-19 Baseball Uniforms and Equipment

Ln #	Award (Y/N)	Reason	Item Description	Quantity	UOM	Price	Extended Price	Supplier
						9.75		VARSITY BRANDS
59.00	Y		Sport-Tek Competitor Tee #ST350-	40	EA	6.50		HOLDINGS CO INC AMERICA TEAM SPORTS
00.00			SFB, or approved equal with two color lettering, color, lettering & sizes to			0.00	200.00	
			follow when order is placed			9.90	396.00	ITS GREEK TO ME
						10.25		DAN CAREYS SPORTING GOODS LTD
						12.50	500.00	VARSITY BRANDS HOLDINGS CO INC
60.00	Y		Baden All-Weather Baseballs #1237221, or approved equal	5	DZ	39.98	199.90	PYRAMID SCHOOL PRODUCTS
						43.15		AMERICA TEAM SPORTS
						49.16	245.80	VARSITY BRANDS HOLDINGS CO INC
						50.65	253.25	DAN CAREYS SPORTING GOODS LTD
61.00	V		Doutings Quetro Basshell Bat	1		53.95		THE PROPHET CORP
61.00	Y		Rawlings Quatro Baseball Bat #RWBB9Q3, or approved equal, length & ounces to follow when order is placed		EA	304.34	304.34	VARSITY BRANDS HOLDINGS CO INC
						331.98	331.98	PYRAMID SCHOOL PRODUCTS
						345.00		AMERICA TEAM SPORTS
62.00	Y		Rawlings Velo Baseball Bat #RWBB9V3, or approved equal, length & ounces to follow when order is placed	1	EA	201.46	201.46	VARSITY BRANDS HOLDINGS CO INC
						245.00 246.99		AMERICA TEAM SPORTS PYRAMID SCHOOL PRODUCTS
63.00	Y		Schutt Throw Down Bases (set of three) #12770300, waffle bottom design, indoor or outdoor, or approved equal		ST	12.02	12.02	VARSITY BRANDS HOLDINGS CO INC
						20.00 36.00	36.00	AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD
64.00	Y		Schutt Large Team Equipment Bag 2.0 #128475, 35"l x 16"w x 16"h, heavy duty polyester with polyurethane backing, 2" nylon webbing, whoulder and handle straps, or approved equal, color to follow when order is done	2	EA	31.08	62.16	VARSITY BRANDS HOLDINGS CO INC
						39.95 89.60	179.20	AMERICA TEAM SPORTS DAN CAREYS SPORTING GOODS LTD
65.00	Y		BSN Batting Practice Ball Cart	1	EA	142.62		VARSITY BRANDS
66.00	Y		#1378683, or approved equal MacGregor Major League Bases with Anchors #1055412, or approved equal		ST	108.88		HOLDINGS CO INC VARSITY BRANDS HOLDINGS CO INC
						110.00 129.98		AMERICA TEAM SPORTS PYRAMID SCHOOL
								PRODUCTS
67.00	Y		Bownet Soft-Toss Baseball Screen #1347203, 7' x 7', or approved equal	2	EA	131.95	263.90	PYRAMID SCHOOL PRODUCTS
						135.00 137.82	275.64	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC
68.00	Y		BSN Recruit Hoody #BSN3001, no subs fill-ins, color & sizes to follow when order is placed	20	EA	19.95		AMERICA TEAM SPORTS
						25.50		VARSITY BRANDS HOLDINGS CO INC
69.00	Y		Adidas Short Sleeve Pullover, no subs fill-ins, color & sizes to follow when order is placed	30	EA	23.95	718.50	AMERICA TEAM SPORTS

Maching Balls, no subs PRO 31.80 95.40 RID 36.00 108.00 DAR 36.00 108.00 DAR 38.95 116.85 AM 42.04 126.12 VAR 48.60 145.80 THE 71.00 Y Jugs Small Ball Hitting Stick 1 EA 8.33 8.33 VAR #JGSHTS, or approved equal	Supplier
Maching Balls, no subs PRO 31.80 95.40 RID 36.00 108.00 DAI 36.00 108.00 DAI 42.04 126.12 VAI 48.60 145.80 THE 48.60 145.80 THE 48.60 145.80 THE 49.04 126.12 VAI 40.04 126.12 VAI 40.04 126.12 VAI 41.05 HOI 48.60 145.80 42.04 126.12 VAI 42.04 126.12 VAI 41.05 HOI 48.60 145.80 41.05 HOI 48.60 145.80 41.05 HOI HOI 48.60 145.80 41.05 HOI HOI 10.00 10.00 42.00 A20.00 DAI 10.00 10.00 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98	PYRAMID SCHOOL
71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 VAR HO PRR 72.00 Y Jugs Small Ball Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	PRODUCTS
T1.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 8.33 8.33 VAF HO HO HO HO PYF PR 25.00 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	RIDDELL ALL AMERICAN
38.95 116.85 AM 42.04 126.12 VAF 42.04 126.12 VAF 71.00 Y Jugs Small Ball Hitting Stick 1 EA 8.33 8.33 VAF #JGSHTS, or approved equal 42.04 126.12 VAF 24.99 24.99 PYF PRC 25.00 25.00 AM 42.00 42.00 A2.00 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	DAN CAREYS SPORTING
71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 VAF 24.99 24.99 24.99 PYF 25.00 25.00 AM 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98	GOODS LTD
71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 8.33 8.33 VAR HO PX PR 71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 8.33 VAR HO 24.99 24.99 24.99 PYF PRC 25.00 AM 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98	AMERICA TEAM SPORTS
71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 VAR 24.99 24.99 PYR PRG 25.00 25.00 AM 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYR	VARSITY BRANDS
71.00 Y Jugs Small Ball Hitting Stick #JGSHTS, or approved equal 1 EA 8.33 8.33 VAR HO 24.99 24.99 24.99 PYE 25.00 25.00 42.00 A42.00 A42.00 A42.00 A42.00 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	HOLDINGS CO INC
#JGSHTS, or approved equal HO 24.99 24.99 PYF 25.00 25.00 AMI 42.00 42.00 AG 72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	THE PROPHET CORP
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	VARSITY BRANDS
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 YeY	HOLDINGS CO INC
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	PYRAMID SCHOOL
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	PRODUCTS
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	AMERICA TEAM SPORTS
72.00 Y Jugs Small Ball Bucket with 4 dozen 1 EA 44.98 44.98 PYF	DAN CAREYS SPORTING
	GOODS LTD
	PYRAMID SCHOOL
	PRODUCTS
equal 45.33 45.33 VAF	VARSITY BRANDS
	HOLDINGS CO INC
	HOLDINGS COINC DAN CAREYS SPORTING
	GOODS LTD
	AMERICA TEAM SPORTS
	AMERICA TEAM SPORTS
Baseball Bat #MCBP28, or approved	AMERICA TEAM SPORTS
equal, length & ounces to follow when	
order is placed	
	VARSITY BRANDS
#DPROCL, 50 lb. bag, or approved HOI equal	HOLDINGS CO INC